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Question Number : 1 Question Id : 5431079604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

India's first National Centre for Marine Bio- diversity (NCMB) iz located in :
HNG &1 Ueell g WHal uig fafdeer &= (Ho %o THo dlo) Hel fter 2 7
Options:




Bhavnagar
1, HIATIR

Jamnagar
2, VTR

Mumbai
3, HE

Pondicherry

%,

4, TSR

Question Number : 2 Question Id : 5431079605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuesticon Label : Multiple Choice Question

Which among the following is the unit of measurment of the "Ecological
Footprint " ?

qiRReIfe gsfET & |49 & oy ugad gos efafag 5 9 &9 8 7

Options:
Global Hectare
FEe (df¥g®d) gacas

1.

Gallon per capita
o Wil ey Ter

Cubic meter

wgfad Hex (89 Hiey)

Man Hour

4 A feaw

Question Number : 3 Question Id : 5431079606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

"Nauradehi Wildlife Sanctuary,"” is located in which State ?
SRSl Twid RN e U H aaied § 7

Options:
Madhya Pradesh

1, HET TG



Gujarat

5. JUINIS

Maharashtra

3. HERTS

Andhra Pradeszh
4 Y HET

Question Number : 4 Question Id : 5431079607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

John is admitted to the hospital fearing heart attack due to severe chest pain.
The investigations revealed that he is suffering from Gastroesphageal reflux
disease (GERD). Identify the correct reason from the following options.

THY BT & T8 & BNV WA & 8o & SN B =% W IOdrel § 9ol hedr T4 B |
S ¥ 9T 9ol © i 98 Thgs 91el 9 (8) ¥ uifsa 2| = fOeeal ¥ 98 arm

BTy

Options:
Pvloric valve does not close properly
, TTETIRE ared S ¥ 9w TE g

Lower oesophageal sphincter (LES) remains open
o THBR SAThoTel FhIex (Tof § T¥) BT Tefl e

Eating hurriedly without chewing of food
| T4 a1 Seal § 95T 59l

Unable to digest protein and fats
4 UM SR T & g4 # STaaY

Question Number : 5 Question Id : 5431079608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Much before the beginning of trade union movement, the labour leader in India
wWas :

8 I AR W B! Sl ARG H Holgy Jdl o

Options:
Sorabjee Shahpoorjee Bengalee

b [ [ a [
il <llelxal €311l

1.



B. P. Wadia
- dlo Hlo qrisar

Lala Lajpat Rai
eITell ofTadyd NI

3.

Narayan Meghjee Lokhandev
4 [+ ]EI :|:|\L w-:l"qu ':_:x:-._q "'\E;\:

Question Number : 6 Question Id : 5431079609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Approximately what fraction of India's Gross Geographical area comes under
the protected Areas ?

YT & Goel dFerd &F w1 o fdeaar f2war (wfoe) wfda e= 8 7

Options:
2%

1.

3%

4%

Question Number : 7 Question Id : 5431079610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which of the following is the tallest perennial grass ?
fr=fefRag 4 9 @0 999 o= JSEeER 9 § 7
Options:

Nile grass
1, e =T

Paddy plant
o T T UTHT

iy
Sugarcane
3 249



Bamboo
R fll %

Question Number : 8 Question Id : 5431079611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is not a root ?
T=eRag 5 9 B WS TEE ¢
Options:

Potato

3, 1]

Carrot
2. 1ty

Radish
5 Tl

L}

Turnip
4, JTCTTTH

Question Number : 9 Question Id : 5431079612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Planets :

g8

(A) Are luminous bodies (B) Twinkle
UHTITHET v B 2 TTH BT 8

(C) Are non- luminous bodies (D) Do not twinkle
R-gerEEE fUvs 8 8 TRTET el Bl E |

Which of the above are correct ?
FURIad H @i Hel g 7
Options:

(A) and (B)

1 (A)Td(B)




(A) and (D)
> (A) T (D)

(B) and (C)
z (B)T(C)

(C) and (D)
4 (©)T (D)

Question Number : 10 Question Id : 5431079613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

In which stage of the demographic transition model , the population is at high
stationary level ?
STHITeeh! AT HISel B [ SNl § OTTawed] Sed [NeR 3{gver 5 &l € 7
Options:

First
1 HH

Second
I

£l

L4

Third

3. Wl

Fourth
g A

Question Number : 11 Question Id : 5431079614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Due to rusting the weight of iron :
S T @ RO dle &l e
Options:

Decreazes
| Hedl 8

Increases



Remains the same
F i . § -8
2 AR ¥&dl &

Uncertain

4 IR

Question Number : 12 Question Id : 5431079615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Phosphorus is mainly extracted from :
BIPRY 30 0 ¥ [ o &

Options:
cand

%,
1 & crj_ ¥

Ash
> G (W) |

Bone ash
o AN 9

Fertilizer
4 @E ¥

Question Number : 13 Question Id : 5431079616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
If electrical conductivity increases with the increase of temperature of a
substance, then itiz a:
qfe fdt 759l @ W9 H gle B9 © W f9gq Amawal § ghe &l 8, O 98
20T
Options:
Conductor

, Hared (hIdey)

Semiconductor
. FdIAR (T BSHR)

Insulator
5 EEATAD (Sl




Carburetor

%
L L

4. PIGRER

Question Number : 14 Question Id : 5431079617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Energy possessed by a body in motion is called :
T oA fUvs | 2 Holl 70 HEn © 7

Options:
Kinetic Energy

;I Sl

Potential Energy

o Rerfoa @l

Kinetic Energy and Potential Energy both
3 TTaw ol vd Rerfaw &l aFl

None ot the three

, i 3 ¥ B

Question Number : 15 Question Id : 5431079618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rukmini Devi Arundale was associated with which of the following forms of
classical dances ?
AU Ul Awad (HEdiEad ¥ 9§ fag e 9o faer 9 e € 7
Options:
Bharat Natvam
| I e

Kuchipudi

GrE=Elk
"3 g

Odissi

%
=

= S



Question Number : 16 Question Id : 5431079619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In which of the following states is the Hornbil Festival held annually ?

e e L - {4 L ) : e
TR 5 e o9 H [ ?_I'-. dy 'BHdd AIEN 511 Al € ¢
Options:

Mizoram

IEmIEe!

1.

Aszam
34

Sikkim

3. Tl

Nagaland
4, TS

Question Number : 17 Question Id : 5431079620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label ; Multiple Choice Guestion
Which of the following disciplines have helped in study of pre-history ?
UNTsderd @ 32099 § A=feffag 9 9 59 aegs &= 9 98ryar UeE &of 7
Options:

Geomorphology

| Eemaf fasm

Paleobotany
5 ONTa-TTd 2T

Paleoanthropology

All of the three
o T H

Question Number : 18 Question Id : 5431079621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



The man who stood for Total Revolution' in India -
dg fad o 9Rd H GEE Hila & o W ga

Options:
Jai Prakash Narayan

WA Heh[R] AIXT4Y]

1

Jvotiba Phule

o, IfeET el

Mahatma Gandhi
= HaltH TH'EL-H

Subhas Chandra Bose
4 NIHTY TR 9N

Question Number : 19 Question Id : 5431079622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Rovers Cup is related to which of the following sports ?
A% &Y EferEg H ¥ e ua 6 o9 g Y

Options:
Football

1. Bedle

Cricket
5 fpe
Hockey

>

Tennis

i

4.

Question Number : 20 Question Id : 5431079623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The tirst Chief Election Commissioner of India was :
ANG & UUH g g9 Agad o
Options:
Shyam Lal Shakdhar
| TUTHATS BN




T. N. Seshan
o é.ir'fl -Q:IG E\] 1:‘

Sukumar Sen

3 *.i] FJﬁIl W _(EI:

V.5 Ramadewvi

4 dlo THo YETEdl

Question Number : 21 Question Id : 5431079624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which among the tollowing is not a subsidiary of RBI ?
Prefefas o 3 oo S0 aido A AR (@ARTAY) TR 7@ E
Options:

National Housing Bank

| XTI (FEeT) BTSN d®

NABARD
o FTETS

Bharativa Reserve Bank Note Mudran private limited

. arar Rerd d@ A g8 agde s

oIDBI
4 S

Question Number : 22 Question Id : 5431079625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following schemes have been subzumed in the recently approved
Avrushman Bharat- National Health protection Mission (AB- NHPM) ?
fr=fafaa 4 9 &3 @ o #1d 81§ Wiga g ARG-IST W@Res e
e (To Fo-Tro Yo Ulo THo) § witAfeT @ TE § 2

Options:
Rashtriva Swasthyva Bima Yojana (RSBY)

, NTSETT ¥AreRd diE1 ol (ko THe dle drgo)




Senior Citizen Health Insurance Scheme (SCHIS)

o HIFIR REIe 20 37ONT WhiF (THo Hio Yo HTgo THo)

National Life Insurance Scheme

= TIFA ATSH STANY hiH

Rashtriva Swasthya Bima  Yojana (RSBY) & Senior Citizen Health

Insurance Scheme (SCHIS)

R AR G A ((Re THo dlo dige) 99T AR RS 2o $3aNd
, T (THo ¥lo THo g0 TWHo)

Question Number : 23 Question Id : 5431079626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Bronze figurines that were produced in Harappan Civilization were made
through, a process known as :
S B WHIAT | HI Hddl BT Scaed HY Bl A
Options:
Lost Wax Process
, U A UHH gV

Hot Wax Process
o T W UshH g

Bronze Wax Process
5 I HH UHH BN

Black and Red Wax Procezs
HTT UG Tl |19 Hehg BN

4

Question Number : 24 Question Id : 5431079627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The Mahatma Gandhi National Rural Employment Guarantee Act mandates at
least what fraction of the beneficiaries to be women ?

HETCHT TE] WG TR AN RS Ude & AN &Hel onaned § 9 &7 U &4
feheT A9 Afeemail &1 2F1 Says ¢ 7

Options:

25%

1.



40%

50%

Question Number : 25 Question Id : 5431079628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Who among the following has written the book "Cricket My Style” ?
frrefefEs 4 9§ w9 Toee 918 weEd’ JRe 6 oEs 8 7
Options:
cunil Gavaskar
1 A AR

Anil Kumble
2. i I ral "‘kl

Kapil Dev
o HIUA 90

None of the three

REEEE L

Question Number : 26 Question Id : 5431079629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

India and World Bank on March 5, 2019 signed USD 96 million loan agreement
for financing Disaster Recovery Project of which State ?
qRd Wi fdvg 6 9 5 9= 2019 @7 {59 wom & 5w susr ueys Hoige @ o
96 fafere= smR®l STeR &1 o1 9z fhar g 7
Options:

Uttarakhand
| BTRETE

Himachal Pradesh
TEHTE S US Tl

Kerala
3 Y



Tamil Nadu

4, 18 L

Question Number : 27 Question Id : 5431079630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which technology company has launched an application called bolo’ to tutor
children to read in Hindi, Englizsh ?
P dF-iidh] S - goal & FH9ll, 8=l Ugd H #HEs & (o0 4rdr  AEe
Options:

Microszoft

), FIGPIRATIE

Facebook

Twitter

= cdiey

Google
4 RIS

Question Number : 28 Question Id : 5431079631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which Ministry came up with the 'One Nation, One Card' Model to enable
seamless travel by ditferent metros and other transport system across the
country besides retail shopping and purchases ?

frd HATGTg 5 U NE-US s @I IOAT B & Wl [O9fF~ HEl U9 g giguie
TOReIIHAT & W e WNE W [y g B o 9 2

Options:
Ministry of Housing and Urban Affair

| T fr e

Ministry of Home Affairs
> T8 HATE™

Ministry of Commerce & Industry

5 AT Uq SN JA



Ministry of Human Resource Development

Question Number : 29 Question Id : 5431079632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Telangana Movement happ ened in year :
ISR R RS L

Options:
1919

, 1919 ¥

1922
5 1922 %

1942
5 1942

1946
4 1946 =

Question Number : 30 Question Id : 5431079633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Whom did Gandhiji regard as his guru in politics ?
ATt o o wreEi § g ot % a3 ?
Options:
Bal Gangadhar Tilak
L ATA TR fad® P

Gopal Krishna Gokhale
5 TITATSl P el Bl

Dadabhai Naoroji
5 GTG] W3 ARl 6

Pt. Madan Mohan Malviya
4 To HE= HIEA HTeddrd @l

sec [1 Data and Feasoning
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Question Number : 31 Question Id : 5431079634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If 'air’ is called 'green’, 'green’ is called 'red), 'red’ is called 'sea’, 'sea’ is called
‘blue,’ blue' is called 'water', and "water' is called 'pink’, then what is the color of
grass 7
gfe '8ar @l B ®el Wil 8, 8 I Wil wEl Wil 8, e @l s @el o]
2, WH% B Al @l Ol g, Al Dl UFEl $El Wl @ 9A1 Ui Bl Jerdl 68l
STAT E, °9 HTE H1 9T R’O 77
Options:

Green
1 Byl

Ailr
2. edl

Red
=3 e

Pink

4 J° g

Question Number : 32 Question Id : 5431079635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Choosze the word which is not similar to the other words in the group :
968 G-y W GHE H oY Y&l & §A A8l @

Options:



Peas
] SR ;

Cabbage

Spinach
| L r| &

Tomato
E 1:| E_,'\

Question Number : 33 Question Id : 5431079636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Solve the following question and choose the correct option:

1,2, 3,4 and 5 are sitting in row but not necessarily in that order.

All of them are sitting in a row with their backs towards North.

3 is immediate right to 5 and 4 is immediate left to 1. Only 2 is between 1 and 5.
Which of the following are at the extreme ends ?

7 W T 7 BINIY d Tl fdwe gy
1,2,3,414 5 ufdd H 40 & ©ifh ATaed® Aal © b &4 H 2 |

I FH IR DI avE AT UIS HYD Gl § 40 £ |

3,5 % fdehel 514 & 04T 4,1 fdehad a1 2| &ael 2,1 0d 5 & did H 2|
Options:

2,4

1

Question Number : 34 Question Id : 5431079637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



In the gquestion below is given a statement followed by two concusions
numbered I and II.

Statement : All Men are mortal.
Conclusion : (I) AIll must die one day.
(II) Death can come at any place, any time.
A 58 T usE H oA fem T © frae 919 87 ey W= [ U T 2 |
YT - GH H™ AORie € |
frepd - (D) T 35 O F aERT AR 2
(I1) 3y el vore ux bl wH o Wl 2 |

Choose correct conclusion of the statement -

S & wel e g |
Options:

only I
1. cfﬁfl:v I

only II
o, ®ae II

either I or IT
s WATIa I

bothIandIT
4 179 II g1

Question Number : 35 Question Id : 5431079638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Aman runs towards North for 10 m, turns left and runs another 20 m. He turns
right and walks slowly for 10 m. Then he again turns right, walks another 50 m
and stops. In which direction is he with respect to his initial position ?
3T 10 o FR B AR Sl 2, 94 JSaT g 947 20 Ho IR Irsar 2| 98 I
Hedl © 991 10 Hlo dR-¢R Feldl @ | Tcagard g8 Y1 a1 godl g 50 Hio SR =eldl
2 T Tl £ | 98 ARME e ¥ g Gen H 8 7
Options:

South- East

1.



North -East
2. "x; 4 1—!1-—'1::_%

MNorth- West
5 STR-UREH
South - West

4 SET-afEEE

Question Number : 36 Question Id : 5431079639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Pointing to an old woman, Aryan said” Her son is my son's uncle”. How is
Aryan related to old woman ?
U gEdiecl] @l AR SN & gU AL o Hel, "SUH YA H UA &1 Gl Bl
AT BT gEHR W Dl Hed € 7
Options:

Mother
Tl

1

Sister
2. o

oon

% B

Daughter
el

Question Number : 37 Question Id : 5431079640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Fear : Threat :: Anger : 7
g : HHd] P ;7
Options:

Compulsion

Panic
> HY



Provocation
3 5 ‘m :

Force
4 91

Question Number : 38 Question Id : 5431079641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Pointing to a Photograph, a man said ," I have no brother or sister but that
man's father is my father 's son." Whose photograph was it ?
BICHTH B AR FART HNd 8¢ U Afdd o Pel, “HY 7 dl 97 9 € 989 8 ol
gx] @fad &1 fOar 3 fuar &1 g3 217 °8 fhaa Berms g 7
Options:

His Son
, S qF

His own
5 G AT

His Father
3, SYHI IR

His Grandfather
4 JHBT glal

Question Number : 39 Question Id : 5431079642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Choose the word which is least like the other words :

Options:
Hostel

1. STATOR

Inn

Hotel
Blco]



Club
4 T

Question Number : 40 Question Id : 5431079643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In a certain language, MADRAS is coded as NBESBT, how is BOMBAY coded
in that code ?

Hfeg w197 § MADRAS, NBESBT & 0 d @IS (a1 741 & 39 &S © JJaN
BOMBAY &4 ®is a1 SRET 7

Options:

CPNCBZ

1.

5 CPNCBX
5 DPNCBZ

4 DFNCBX

Question Number : 41 Question Id : 5431079644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

A man is facing west. He turns 45 degrees in the clockwise direction and then
another 180 degreez in the same direction and then 270 degreez in the
anticlockwise direction.Find which direction he is facing now ?

U i UiRFH @] AR HE SR Wel £ © qz gieromed ﬁ":{Tr 5 45 feaft s 2 qr
deqeaTa g9 930 H 180 &= ok g=a1 ¢ vd gw@ 4re amAad 93w 9 270 S
gedl & | =i $ifwy f fod fozm 4 98 o9 9ee 9si e 7

Options:
South-West

| SlET-uiEEy

West
- UlE=H

South

3. F e

East-South

-



Question Number : 42 Question Id : 5431079645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which is in ascending order ?
B ARE HH B 7

Options:

1 L% ey i B e B S

2/3,7/9,9/11,8/9
- 9/11,8/9,2/3, 7/9

7/9,2/3,9/11,8/9

Question Number : 43 Question Id : 5431079646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuesticon Label : Multiple Choice Question

Find out the pair in which the words bear the same relationship to each other as
similar to the words of the given pair bears.

S SISl (Pair) & UaT o9y, fored ¥ Ud-gay o del A §ad Y@d 8, o
G ¢ Wis @ 3] © WA & |

Horse : Hoof

Options:
Man : Foot

| 3TEH U

Dog : Black
-4 + DI

Paise : Rupee

Pen : Pencil

4 YA : Uuf~eEd

Question Number : 44 Question Id : 5431079647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Find the odd group of letters :
HERT @1 favA THE S1d BIY

Options:
; AOE

, EUI
< 0T

4 IEM

Question Number : 45 Question Id : 5431079648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

How many 4's are there in the series wich comes between two 5's ?
) R 1 e %, i = y &
el H b 42 @ &1 5 & A" 3 8 7

Options:

e

M2
oy

(S5

Question Number : 46 Question Id : 5431079649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Arrange the given words in meaningful sequence and choose the correct
sequence from the given alternatives.

(a) Elephant (b)y Cat (c) Mosquito (d) Tiger

(e) Whale

g Ty o=t 1 el A # oyafierd X ofiR f3y v famedl # & O BE g

(a) =Tt (b) fawei (¢) =T (d) @
(e) &
Options:

; (@), (), (e), (d), (b)

5 (B), (e), (@), (d), (c)



= (¢), (b), (d), (a), (e)

4 (&), (¢}, (a), (b), (d)

Question Number : 47 Question Id : 5431079650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

In the following question, which character when placed at the sign (?) zhall
complete the given pattern :

9 W3H H, B4 fdded v (2) R U U2 @ gu He 7

]
CN | TV
21 220

FK
33

Options:
;1 4
5 o3
3 65
i
4 89

Question Number : 48 Question Id : 5431079651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

In the following diagram :

What are the number that lie inside any two figures ?
=t o +
7 B @ HEnd & o Rl A &7 sl & erer Rerd € ?

Options:



Question Number : 49 Question Id : 5431079652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

From 1 'O’ clock afternoon upto 10 'O’ clock in the night how many times the
hands of a clock will be at right angle :

SN 1 99 9 g 10 99 °h, "ol @ geal (hands) fae aN 5 &7 (right
angle) T & :

Options:
9 time

1.9 9@

10 times
> 1049

18 times
= 189N

20 times
4 2049

Question Number : 50 Question Id : 5431079653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

If 5th January, 1991 was saturday, then what day of the week was it on 4th
March 1992 ?
afe 5 Wax) 1991 BT UMGR o1, o 4 9= 1992 @1 0w @&l HiE-91 foq o1 ?

Options:
Monday

1.'\ "f"\

Wednesday
e
o B AR



Friday

3.3-1

Sunday

4, AR

Question Number : 51 Question Id : 5431079654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Read the following information :

(I) A,B,CD,E F,Gand H are sitting in a row facing North.

(II) A is fourth to the rightof E

(IITYH is tourth to the left of D

(IV) C and F , who are not at the ends, are neighbours of B and E, respectively
(V) His next to the left of A and A is the neighbour of B

Then what is position of F ?

MTeiad SThn U
() A,B,C,D,E F GaiR H3tN &I 3} Uk dfdg § 9S 2 |
(II) A, E® TS AW = 2|

(IIHH, D& IR 3 9@ 2|

(IV) CIRF, &l BX WX 98l &, %A% B3R E@ UsSHl |
(VIH, A & 99 3R g 3k A, BT TSl 2|

ar Fay fefg @ g ?

Options:
Next to the right of E

| E% IR 8K

Next to the right of G
, G i < GiR

Sixth to the right of D
2 D% S/l 3R ©ol




Betvween G and H.
4 GIR H® 99

Sub-Section Number: 2
Sub-Section 1d: 543107187
Question Shuffling Allowed : Yes

Question Id : 5431079655 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (52to0 54)
Juestion Label - Comprehension

Read following statements carefully and answer the questions -

Outof four friends A, B, Cand D :

(I) A and B play football and cricket

(II) B and C play cricket and hockey
(II[) A and D playv basketball and tootball
(IV)C and D play hockey and basketball

Frfafad HEl &1 erFydd g &Y 3% 099 & 90¢ aIay
AN SRGl A, B,C3IRDH 4 :

(I) A 3R B geaE AR e wed 2|
(Il) B3R C fFde 3R 2 gad £

(III) A 3R D adheard 3R Heare Wold g1

i L » o B - < 5, Nl
(IV) C AR D BT AR dipcdlel Eeld 2 |

Sub questions

Question Number : 52 Question Id : 5431079656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Who does not play hockey ?
?é‘:rﬁl: QE[ E‘F‘-l:r Elf:l" '_'Ff".t‘[ :j': t.l % ?
Options:

1. P

&



A

Question Number : 53 Question Id : 5431079657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Who plays football, Basket ball and hockey ?
ITH U B Hearel, ahedld 3R B Weldl 2 7
Options:

A

Question Number : 54 Question Id : 5431079658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which game do B, C and D play ?

BE-GT WA B,C3IR DWAT € 7
Options:
Baskethall

1. SR |

Hockey
2 8

Cricket

eher

B e

Football

4 :,_h. C_.:'.,: (r

Sub-Section Number: 3
Sub-Section 1d: 543107188
Question Shuffling Allowed : Yes

Question Id : 5431079659 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (55to 57)



Question Label 1 Comprehension
Study the following graph carefully and answer the questions that follow :

Amount of Rice, Wheat and Sugar Conzumed by various restaurants over a
year :

feferiaa % @1 FEEHIYde I DT o201 9ol @ G0N iy |

U g4 @ QN [ YEN @ 8N @U9 [y T4 =@Ed, T8 UG 99 S HE

800

750
700

450 450 450

375 =0 H fice
300/ 300 = Wheat

I W Sugar

A\ B C U E

Restaurants ({%)

Consumption (E9a)

Sub questions

Question Number : 55 Question Id : 5431079660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

What is the respective ratio of the amount of Rice, Wheat and Sugar consumed
by restaurant D to the same consumed by restaurant B ?

V&Rl B T D EN @Ud Bl W 4l @, T8 3N AW @ A @l Hei
IR M E ?

Options:
| 1317

2 11215
5 9:14

5 7211

Question Number : 56 Question Id : 5431079661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

What is the average amount of Rice, Wheat and Sugar consumed by per
restaurant ?

I YR §NT U 6 S darcl (SU4ET) =hd, e 3R dM0 & 3T AT
z 7

Options:

1. 1345

Question Number : 57 Question Id : 5431079662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Sugar consumed by restaurant C is approximately what percent of rice and
wheat consumed by restaurant A ?
YT C ENT SUERT & A drell O, YRl A N o o ot dee @R

Options:
1 30%

3 35%

4 40%

Sub-Section Number: 4
Sub-Section 1d: 543107189
Question Shuffling Allowed : Yes

Question Id : 5431079663 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (58 to 60)
Cuesticon Label | Comprehension



Study the following table carefully to answer the questions that follows :

Number of Article (in thousands) Manufactured (M) and Defective (D) by 5
units of a company over the years :

Frefeiaa wrefl &1 Seerigds Fea- HIfore Tu7 4eHl ® STY gIT

Ueh BT BT 5 FHISAl B BRI Uh 99 & SN [iEg (M) U9 fewfdca (D) sHsdl
@ HET (BN H)

Unit

Year I II III IV Vv

2013 63 11 a5 a7 56 28 66 11 o6

[ 8]

2014 9 03 42 10 55 14 73 14 46 11

2015 60 03 35 3 63 G 73 20 41 D
2016 75 10 78 5 67 10 64 9 53 3
2017 | 80 21 82 3 92 12 55 17 63 10

2015 od 05 66 12 45 22 20

[
]
=

11

Sub questions

Question Number : 58 Question Id : 5431079664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label ; Multiple Choice Guestion

During which year the largest percentage of articles were defective out of the
article manufactured by unit IIT ?

ghls 10 g Afg anfdea ¥ 9 fewfacg anfdea &1 999 g1 9faed 69 a9 &
SR o7 7

Options:

, 2014

2016
5 2018

2013

Question Number : 59 Question Id : 5431079665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion



What was the percentage of defective articles over the number of articles
manufactured by all units together in the year 2017 ?

ay 2017 4 w41 SHISAT BN G (AT Sficeha #1 @@ W) fewficd Afceda &
OfcigrT or o1 7
Options:

Question Number : 60 Question Id : 5431079666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

During which year was the percentage increase,/ decrease i manufactured
trom the previous year the highest for unit II ?

fb| ad & SRH, gie & forw oo aui § FfEa ufoea gfg /&4 sfgeaq a0 ?
Options:

; 2013
5 2014
! 15
3 2015
4 2016
sec [11 Cuantitative Ability

Section Id : 543107144
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 90
Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 543107190
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5431079667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
242 -2%x2+2=7

Options:
1. 0

I~

Question Number : 62 Question Id : 5431079668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Ifi+—lt=i thenx =7
2 2

afe 'E"H: Al

| =1

Options:
1,2

-1

(]

Question Number : 63 Question Id : 5431079669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

0.003 = 0.0004 =7

Options:
, 0.0012

, 0.00012



= 0.0000012

4 0.000012

Question Number : 64 Question Id : 5431079670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Ifa=bandb =c, then a = c. This property is called :

it a=b T b=c T4 a=c| 39 Y0 | H&l A 2 :
Options:
Reflexive

Transitive

o HshTH®D

Trichotomy

R haiRsaha]

Symmetric

s
i
%‘

Question Number : 65 Question Id : 5431079671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

71 =7
Options:
1 70

5 120

Question Number : 66 Question Id : 5431079672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



What is the least common multiple (LCM) of the numbers 90, 60, 75, and 35 ?
HETEAT 90, 60, 75 Ud 35 1 A FHIGAS &1 & 7

Options:
1 2700

> 6300

Question Number : 67 Question Id : 5431079673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

How manv seconds does Puja take to cover a distance of 500 m, if she runs at a
speed of 30 km/hr ?
500 Hio @1 TN B N &Y & oIy T fhaqr ddvs ol e 98 30 fhH/Her &l
Options:

G0 sec.
1 60 UFHTE

32 sec.

o 82 \x:| d"gljg

95 sec.

3, 95 WBHTS

100 =sec.
4 100 HpUs

Question Number : 68 Question Id : 5431079674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Find the HCF of 54 , 233, 360

54 288, 360 &1 HewH GHEYAAE S0 BT ¢
Options:

18

1



Question Number : 69 Question Id : 5431079675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion
100 +50x2=7

Options:
, 200

5 100

Question Number : 70 Question Id : 5431079676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Juestion Label - Multiple CThoice Cuestion

Find the number, when 15 is subtracted from 7 times the number , the result is
10 more than twice of the number :

G = SN o9 15 @ 9= & 7 4 9 " Jdl €, uNvE 9@ @ SR
W 10 3rfer® B 2

Options:

I._,,

1\

Question Number : 71 Question Id : 5431079677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label | Multiple Choice Guestion

A man buys an article for Rs. 27.50 and sells it for Rs. 25.60. Find his gain
percentage.

U% @fdd Udh AEE Bo 2750 H @Ngal @ = 39 %o 2360 H @@l 1 @™
Options:

o
, 1%



Question Number : 72 Question Id : 5431079678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label ; Multiple Choice Guestion
The difference of the place value and the face value of the digit 2 in 3124698 is :

&
K- i

3124698 H &% 2 & W Hed UaH By Hod @] N ©

Options:
1.quq5

5 16663
5 18838

4 17778

Question Number : 73 Question Id : 5431079679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Mahendra bought 20 dining tables for Rs. 12,000 and sold them at a profit equal
to the selling price of 4 dining tables, the selling price of 1 table is:

qew% 20 WiaH Al B %o 12,000 H @UEHR §H 4 WioH A9 & [9%g g &
aRTgY 4 ofeh] o f3an, afck 1 4o 99 &1 99 @

Options:

Rs. 550



Question Number : 74 Question Id : 5431079680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

If HC.F. of (65, 117) is expressed in the form 65 m + 117n, then the value of mis:
e (65,117) & HCFE. ®T1 65m+ 117n® T9 H oo 6 AT &, T m &1 919 2 ;

Options:
1. 1

[

Question Number : 75 Question Id : 5431079681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

A tank can be filled by two taps A and B in 12 hours separately. The full tank
can be emptied by a third tap in 3 hours. If all the taps be turned on at the
same time, then the time taken to fill completely the empty tank will be :

MG UH THh! DI &1 Ac A IR B & G -6 12 €¢ § R A Wl &, a0
U ORI 99 BRT 99 8 Hel # @rell fhar o 9&dar 8 df 99 Al B Ua 91

Options:
24 hours
1 24 el

48 hours
> 43 =T

38 hours
38 "HeT

35 hours
35 =TT

Question Number : 76 Question Id : 5431079682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

xis 5% of y, v is 24 % of z . If x =480, then the value of y and = are -
y T 5% x TT = ® 24% y © | Tfg x =480, T y T =z F A9 ©



Options:
iy = 9000, == 30000

1.

5> 1 =9600, = = 40000
5 V= 3000, = = 25000
4 y= 7600, ==20000

Question Number : 77 Question Id : 5431079683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The number of selections of four letters from the letters of the word
ASSASSINATION is -

ASSASSINATION ¥es & e W 4 ERi & IA1dl & 6= ¢ ¢

Options:

1 72

71

|
[t

Question Number : 78 Question Id : 5431079684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

; ; 1 : 0
The inequality x +— <2 is true, if
5

HAHMHAT x+— <2 HA T, Als :

A
Options:
2. A2 0

z x<0
4 x=-1only
Question Number : 79 Question Id : 5431079685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
Cestion Label : Multiple Choice CQuestion

It ] [—3] , then the value of x2is
(3Y L (2Y" o :
T x= —l ”l_l A x2S EE E
W2/ A3
Options:
98
2
i
)
e e
,E.];z
3. \2J
£o\12
)
S

Question Number : 80 Question Id : 5431079686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

"
The set of real numbers which satisfy the equation x™ -5x+6=0 is:

FHHT 22 —5x+6=0 P A BV el dIedides GEIHA] B G 8

Options:

5 2r9)

Question Number : 81 Question Id : 5431079687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If a number 'x' be subtracted from each of the number 21, 38, 55, 106, then they
become proportional. The value of 'x"is:
Aqfe 'x' W1 Uch® 3 21, 38, 55, 106 H | HEH W d 3 GHRUE H 8 W gl x



Options:

A

Question Number : 82 Question Id : 5431079688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion

The HCF of the polynomials 23 4552 —2x—5 and 3x° —x"—3x41is:
- . = 3 % =

2% +5x2 —2x—5 TAT 3x° —x~ —3x+1 =1§-E1é Il HCE © -

Options:

4 (x4 3)(2x+5)

Question Number : 83 Question Id : 5431079689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Sohan saves 14% of his salary while George saves 22% of his salary. If both get
the same salary and George saves Rs. 1540, then saving of Schan is :

Al 39T daq BT 14% F9d Heal & a7 Wl 9 aaq &1 22% ddad &edl o |
g a1 1 d99 G99 & a7 W 994 1,540 g9 &, O 9ed 6l 999 ©

Options:
Rs. 950

1 950 BT

R=. 930
5 980 T9Y

Rs. 940
= 940 7Y



Rs. 900
4 900 FTY

Question Number : 84 Question Id : 5431079690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

A table was sold at a gain of 10%. Had it been sold for Rs. 30 more, the gain
would have been 15%. The cost price of tableis :

Udh cadl &l 10% & o W =59 T gie 99 30 ©99 Afge H dwr g0 2, ol
15% 1 @19 B | <9l BT g Jod 941 8 ?

Options:
; Rs.300

5 Rs. 500
Rs. 400

Rs. 600

Question Number : 85 Question Id : 5431079691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple CThoice Cuestion

If 'A" and 'B' can do a piece of work in 8 days, while ‘A’ alone can do it in 12
days. In how many days can 'B' alone do the same work ?

'A' 3R B bl &1 #1 8 fa9 # yu Bed 2 wale A’ 9 @ B 12 f2m d gu
HXAT 2| ‘B’ el I B Bl fohad &A1 H gI F 7

Options:

1 24 days

5 12 davs
2 l6 days

” 20 days

Question Number : 86 Question Id : 5431079692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



The mean of 31 results is 60. If the mean of the first 16 results is 53 and that of
the last 16 results is 62 |, then 16th result is -

31 gfRuTsT 7 3Ed 99 60 £ | I U 16 yNHl FT g A9 S8 E aM A &

16 IR0 &7 3I9d 99 62 8, 1 164 TRUIE &1 7919 &

Options:
1. 09

> 60
5 bl

4 605

Question Number : 87 Question Id : 5431079693 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The mean weight of 30 students is 58 kg. After rechecking it was discovered
that the two weights 52 and 68 misread as 25 and 86. The correct mean is :

30 BT BT AT WX 58 e TMe T | [7: JoAid= & 918, Tg 9141 41 fF 52 TAT 68
B ITeral | 253N 86 T fora AT T, O el sidd J9 ©

Options:
1 58.11

5 58.237

Question Number : 88 Question Id : 5431079694 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

2 men and 5 boys can finish a piece of work in 4 days , while 3 men and 6 boys
can finish it in 3 days . The time taken by one man alone to finish the workis:

a1 SeH AR 5 ciew bl @ @ 4 fod 3 90 &¥d €, Wale 3 AeHl SN 6 ds®
9l B Bl 3 59 § Q¥ N 2| Uh HATSHl el 99l Hrd Bl fohae B | g

7

chvi]

Options:
;20 days

5 13 daj_.'S



= 14 days

4 16 days

Question Number : 89 Question Id : 5431079695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Sum of all odd integers from 1 to 1001 is:
19 1001 & 7= G9W 999 goiiel &1 Im

-

Options:
, 251001

5 242105
5 251003

261001

Question Number : 90 Question Id : 5431079696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Question

In a survey of 700 students in a college, 180 were listed as drinking Limca. 275
as drinking Miranda and 95 were listed as drinking both Limca as well as
Miranda. How many students were drinking neither Limca nor Miranda ?

UdH Hiehd H 700 BT &1 Tderor foar a7 fad 180 ©1= foimr i o, 275 B
FR=s1 did & 9271 95 B formm a2 Res1 M dig €1 fhad o1 U 8 W 49

Options:
;360
5 350
5 340
4 320
Sec [V WA and Language English
Section Id : 543107145
Section Number : 4
Section type: Online

Mandatory or Optional: Optiona



Number of Questions: 30

Number of Questionsto be attempted: 30

Section Marks: 900

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 543107191
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 5431079697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Select the word nearest in meaning to the given word:
Penitence :

Options:
1 Retribution

5 Submission
5 Confinement

4 Repentance

Question Number : 92 Question Id : 5431079698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word:
Vocation :
Options:

, Employment

5 Hobby

o Occupation

i Past

Question Number : 93 Question Id : 5431079699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question



Select the word nearest in meaning to the given word:

Corrohorate :
Options:

1 Verify

. Refute
5 Disprove

” Disapprove

Question Number : 94 Question Id : 5431079700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Select the word nearest in meaning fo the given word :
MNexus :

Options:

, Fight

5 Rivalry

3 Connection

4 [nternal fighting

Question Number : 95 Question Id : 5431079701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Select the word nearest in meaning to the given word:

Candid :
Options:

1 Frank

5 Well planned

= Humble

4 cimple



Question Number : 96 Question Id : 5431079702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Select the word opposite in meaning to the given word :
Plethora :

Options:
) Profusion

Current
5 Balance

i Shortage

Question Number : 97 Question Id : 5431079703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

oelect the word opposite in meaning to the given word
Dormant -

Options:
1 Latent

5 Active
z In dolent

4 Helpless

Question Number : 98 Question Id : 5431079704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word :

Amalgamate :

Options:
1 Recriminate

> Procrastinate



3 Scintillate

4 e gregate

Question Number : 99 Question Id : 5431079705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given vyord :
Viable :

Options:
1 Feasible

5 Impossible

3 Credible

4 Rationale

Question Number : 100 Question Id : 5431079706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

“Select the word opposite in meaning to the oIven word :
Turbid -

Options:

1 Clear

5 Muddy
= Densze

4 Heavy

Question Number : 101 Question Id : 5431079707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression:
To hit the right nail on the head :

Options:



To do thines right
1 g= 118
5 To announce one's fixed views

. To destroy one's reputation

, To teach zomeone a lesson

Question Number : 102 Question Id : 5431079708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Select the correct meaning of the given idiomatic expression:
A pyrrhic victory :

Options:
1 A victory which is not possible

5 De&‘a&tating 1-‘ict::|r§:
5 A victory that brings more loss than gains

G A quid pro quo

Question Number : 103 Question Id : 5431079709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the correct meaning of the given idiomatic expression:
Back out :

Options:
1 Step aside

" Pack up

o Support

4 Withdraw from

Question Number : 104 Question Id : 5431079710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Question Label : Multiple Choice Guestion
Select the correct meaning of the given idiomatic expression:

To die in harness ;'

Options:
i Pain and suffering

5 Die while still working
s Die on the battle field

4 e with honour

Question Number : 105 Question Id : 5431079711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the correct meaning of the given idiomatic expression:
To bury the hatchet :

Options:
, Toquarrel over small things

o To destroy

. To rapair a costly furniture

. To make peace

Question Number : 106 Question Id : 5431079712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

From the given options, identify the word with correct spelling :
Options:

i Etiquette

” Etigette

z Etiquete

i Etiquett



Question Number : 107 Question Id : 5431079713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

From the given options, identify the word with correct spelling

Options:
Reminscent

. Reminiscent

Reminizent

i Reminicent

Question Number : 108 Question Id : 5431079714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

From the given options, identify the word with correct spelling :
Options:

. Eroneously

Erroniously

3 Erroneously

" Erronously

Question Number : 109 Question Id : 5431079715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

One of the words from the given options is misspelt. Identify the misspelt word
Options:

1 Measurement

» Disaggreement

5 Controversial

4 Commercial



Question Number : 110 Question Id : 5431079716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

One of the words from the given options is misspelt. Identify the misspelt word

Options:
1 Amateur

5 Vacuum

3 Languid

4 Mallcontent

Question Number : 111 Question Id : 5431079717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The sentence given are divided into four parts, which are numbered (1), (2), (3)
and (4). One of these parts has an error in it. Identify that part :

Climate change may alter (1) /the distribution and quality (2) / of India's
natural resources (3) / or adversely affect the livelihood of its people (4)

Options:

1. &

Question Number : 112 Question Id : 5431079718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The sentence given are divided into four parts, which are numbered (1), (2), (3)
and (4). One of these parts has an error in it. Identify that part :

The organization is planning (1) /a training programme (2)/ for their senior

4

officers (3) /sometime in March. (4)

Options:



Question Number : 113 Question 1d : 5431079719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The sentence given are divided into four parts, which are numbered (1), (2), (3)
and (4). One of these parts has an error in it. Identify that part :

The reason (1)/ why she is absent today (2)/ is becasue (3) / her husband is ill (4)

Options:

1. (b

Question Number : 114 Question Id : 5431079720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The sentence given are divided into four parts, which are numbered (1), (2), (3)
and (4). One of these parts has an error in it. Identify that part :

We have purchased (1) many items of furnitures (2)/ for our (3) new flat (4)

Options:

1. (b



Question Number : 115 Question Id : 5431079721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The sentence given are divided into four parts, which are numbered (1), (2), (3)
and (4). One of these partz has an error in it. Identify that part:

Dozen of (1) /mangoes were (2) / distributed among the boys (3)/ by the dass
teacher (4)

Options:

1. &

Question Number : 116 Question Id : 5431079722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Select the pair that expresses a relatinnahip similar to that

expressed in the original pair.

Ornithologist : Birds ::

Options:

Anthrnpulngizt - Insects
1.

Botainst - Animals
Archeologist : Artifacts

Aquarium : Fish

Question Number : 117 Question Id : 5431079723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Select the pair that expresses a relationship similar to that
expressed in the Drig'uml pair.

Multiplication : Division =

Options:

Increase - Decrease
1.

Calculate : Estimate
z2.

Integers : Score
=

g Zero : Infinity

Question Number : 118 Question Id : 5431079724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the pair that expresses a relationship similar to that

expressed in the original pair.
Actor : Soliloquy =

Options:
] Director : Movie

Drummer - March

3 Singer : Duet

Musician : Solo

Question Number : 119 Question Id : 5431079725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the pair that expresses a relationship similar to that
expressed in the original pair.

Cynosure - Brilliant

Options:

1 Map : Legible



Magnet : Attractive
3 Word - Common

4 Student - Attentive

Question Number : 120 Question Id : 5431079726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the pair that expresses a relationship similar to that
expressed in the original pair.
Permanent : Evanescent ::

Options:
Eternal : Everlasting
5 Lasting : Glittering

= Durable : Fleeting

g Reviews : Critic

Sec [N WA and Language Hindi

Section 1d : 543107146

Section Number : 5

Section type: Online

Mandatory or Optional: Optiona

Number of Questions: 30

Number of Questionsto be attempted: 30

Section Marks: 90

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 543107192
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5431079727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Question Number : 122 Question Id : 5431079728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

e Taferad ®reiol &l WU @8l 85 ¢

Options:

P
5 e thT]
L HE ]

=
SEEG R

Question Number : 123 Question Id : 5431079729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Afaer @1 60 gRT & SIuR =<t T &+ ?

Options:

L 343

Question Number : 124 Question 1d : 5431079730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

H @ agdEd w91 8 ?

Options:

1 HATT

Question Number : 125 Question Id : 5431079731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Options:

dih¥

1.

Question Number : 126 Question Id : 5431079732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

i

'Heg' o ST Irea] & @i H g 8 7

Options:

f TP F
Hg +{d

SW + 54
Hal + Ud



Question Number : 127 Question Id : 5431079733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

% r Iy = [ N |
JAdid &l Hel i ld=og 41 & ¢

Options:

1 Y + 7Id
5 SRk
5 B + T
4 Ad +7Td

Question Number : 128 Question Id : 5431079734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Options:

I ‘_;-!_

Question Number : 129 Question Id : 5431079735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

T @7 [GeERE e a2 v

Options:



Question Number : 130 Question Id : 5431079736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

o

\;_-;_I?: r]F]-_-T o] E 4

Options:
gy FIS D
4 IR

Question Number : 131 Question Id : 5431079737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Options:
1. -

5 & A7

Question Number : 132 Question Id : 5431079738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

ol ohas & gomT & @ dEd # 2

Options:



= STCHDET
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Question Number : 133 Question Id : 5431079739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Teaer § dH-9T 999 & 7
Options:

. fHERY

Question Number : 134 Question Id : 5431079740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Options:

. fa9ard @ S

, I8 @rd &

4 T84 feren 3vd 2FT

Question Number : 135 Question 1d : 5431079741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion
'HTa OTel UTg T BT TR 3 7 B Y
Options:

1.



5 9o Wl Tere-THdrd

4 .:1|'E '\J cth -_—|

Question Number : 136 Question Id : 5431079742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

TH @& Fued o ;
Options:

1 THig

Question Number : 137 Question Id : 5431079743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
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Question Number : 138 Question Id : 5431079744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Question Number : 139 Question Id : 5431079745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

-

579 ¥ UHDE @ Hfa d A8 2 7

Options:
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Question Number : 140 Question Id : 5431079746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question
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Question Number : 141 Question Id : 5431079747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
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Options:



Question Number : 142 Question Id : 5431079748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

—
o

£ e : T R O A N o
Bal @i 9ad 3w Wl § arel A a1l el ®E 9 £

Options:
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Question Number : 143 Question Id : 5431079749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Options:
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Question Number : 144 Question Id : 5431079750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question
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Question Number : 145 Question Id : 5431079751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Question Number : 146 Question Id : 5431079752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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Question Number : 147 Question Id : 5431079753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
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Question Number : 148 Question Id : 5431079754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
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Question Number : 149 Question Id : 5431079755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Question Number : 150 Question Id : 5431079756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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